



Physical constants and Formulae you may need!

G = 6.67x10-11 N-m2/kg2                            Pat = 1.013x105 Pa 

NA = 6.02x1023 particles/mol                     g = 9.8 m/s2
	x = xf - xi
vav = x/t

aav = v/t

average speed =  total distance / total time. 

vf =vi+at 

x = ½ (vf+vi)t

x = vit + ½ at2
v2f = v2i + 2ax

v=
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 = tan-1(vy/vx)

Ax=A cos 

Ay=A sin 
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w = mg

Fk =  k n

W = Fs cos 

Wnet = KE

Wc = PEi –PEf 

 PEg = mgy

PE = ½ k x2  

Fs = -kx

ME = KE+PE 

(Wnc = (PE+KE)f  - (PE+KE)i
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Px = p cos py = p sin 
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pbefore = pafter 

p = 0, px = 0, py = 0


[image: image8.wmf]p

t

F

I

av

r

r

r

D

=

D

=





	
[image: image9.wmf]i

2

2

1

2

i

1

2

1

2

1

f

1

V

m

m

m

2

V

m

m

)

m

m

(

V

+

+

+

-

=



[image: image10.wmf]i

1

2

1

1

2

i

1

2

1

1

f

2

V

m

m

)

m

m

(

V

m

m

m

2

V

+

-

+

+

=


s/r 


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ft

( ft

(fit + ½t2 

f(

vt = r

ac =  v2/r = r

Fc = mv2/r

at = r
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 EMBED Equation.3  [image: image15.wmf]
r 

mi r2i  
KEt = ½ mv2

KE total = KEt + KEr 

Fdd  is the lever arm
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Fx = 0, Fy = 0
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L/t. 

L = I

Lf = Li , Iii = Iff
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P = (F cos )/A

P = gh

Pgauge = |P-Pat|

B(buoyant  force) = Wfluid

A1v1 = A2v2
P1 + ½  v21 + gh1 

= P2+1/2 v22+gh2

TC = TK -273.15

TC = 5/9 (TF – 32)

L =  Lo T

A =  Ao T

V = VoT

n = m/molar mass

PV = n RT, R = 8.31 J /mol.oK

PV = N kBT , kB = 1.38x10-23 J/oK
Q = mcT

Q = mL
 KEav = 3/2 kBT 

KE total = 3/2 n RT

KE total = U

W = P∆V

 Q = W + U
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